Journal of Material Cycles and Waste Management
https://doi.org/10.1007/510163-023-01834-1

REGIONAL CASE STUDY q

Check for
updates

Incorporating coarse and fine recycled aggregates into concrete
mixes: mechanical characterization and environmental impact

Ammar Younes'?® . Emad Elbeltagi® - Aboelkasim Diab?* - Giulia Tarsi® - Fam Saeed® - Cesare Sangiorgi®

Received: 23 August 2023 / Accepted: 16 October 2023
© The Author(s) 2023

Abstract

Concrete waste (CW) recycling stands as a promising strategy to promote sustainable construction practices. This research
aims to assess the feasibility of using recycled concrete aggregates (RCA) as a surrogate for natural aggregates (NA) in
concrete applications and reduce the environmental impact associated with the depletion of natural resources and landfill
space. To achieve these objectives, CW was segregated from debris mixes of construction and demolition waste (CDW), col-
lected, crushed, and graded to generate RCA. Thirty-two concrete samples were prepared and categorized into four distinct
groups with 0% (reference), 50%, 75%, and 100% substitution levels for both coarse RCA (CRCA) and fine RCA (FRCA),
all utilized simultaneously. Concurrently, the environmental impacts of producing 1 m® of concrete were evaluated using a
life cycle assessment (LCA) approach, (cradle-to-gate) covering three phases, the raw material supply (A1), transportation
(A2) and concrete production (A3). At the 50% replacement level, the mechanical properties of recycled aggregate concrete
(RAC) demonstrated a 20.0% increase in splitting tensile strength, accompanied by marginal decrease in workability (15.0%)
and compressive strength (6.0%). In addition, at that percentage, the average environmental effects were reduced by 31.3%,
with specific reductions of 34.7% for A1, 40.3% for A2, and no change in A3.

Keywords Concrete waste - Recycled concrete aggregates - Mechanical characterization - Environmental impacts

Abbreviations NA Natural aggregates

CDW  Construction and demolition waste CAN  Coarse natural aggregates

Ccw Concrete waste FNA  Fine natural aggregates

RCA  Recycled concrete aggregates CC Conventional concrete or traditional concrete
CRCA Coarse recycled concrete aggregates RAC  Recycled aggregate concrete

FRCA Fine recycled concrete aggregates GHGs Greenhouse gases

P< Ammar Younes Department of Civil Engineering, Faculty of Engineering,

ammar.zaki.55555 @aast.edu

Emad Elbeltagi
eelbelta@mans.edu.eg

Aboelkasim Diab
adiab@aswu.edu.eg; adiab@fbsu.edu.sa

Giulia Tarsi
giulia.tarsi2@unibo.it

Fam Saeed
ffasaced @uwaterloo.ca

Cesare Sangiorgi
cesare.sangiorgi4 @unibo.it

Present Address: Construction and Building Department,
Faculty of Engineering, Arab Academy for Science,
Technology and Maritime Transport (AASTMT), Aswan,

Egypt

Published online: 06 November 2023

Aswan University, Aswan 81542, Egypt

Department of Structural Engineering, Faculty
of Engineering, Mansoura University, Mansoura 35516,

Egypt
Present Address: Department of Civil Engineering, College

of Engineering, Fahad Bin Sultan University, Tabuk 71454,
Saudi Arabia

Department of Civil, Chemical, Environmental and Materials
Engineering, University of Bologna, 40131 Bologna, Italy

Department of Civil and Environmental Engineering,
Faculty of Engineering, University of Waterloo, Waterloo,
ON N2L 3Gl1, Canada

@ Springer


http://crossmark.crossref.org/dialog/?doi=10.1007/s10163-023-01834-1&domain=pdf
http://orcid.org/0000-0002-0249-7933

Journal of Material Cycles and Waste Management

LCA  Life cycle assessment
LCI Life cycle Inventory
LCIA Life cycle impact assessment

Introduction

The 2030 Agenda goals of United Nations (UN) aim to
achieve reduction of 35% in greenhouse gases (GHGs)
emissions, 42% in final energy consumption, and 50% in
material extraction [1]. The construction sector exerts a
significant influence on addressing key challenges, as it
contributes to 40% of worldwide energy consumption [2],
generate over 35% of GHGs [3], accounts for more than
50% of material extraction, utilizes about 30% of water
resources, and it roughly contributes a third of waste pro-
duction [4]. Within this context, construction and demoli-
tion waste (CDW) refers to the debris generated during
the phases of constructing, renovating, and dismantling
buildings, bridges, and other structures [5]. In develop-
ing countries, about 95% of produced CDW is disposed

of on landfills or illegal dumping in unoccupied areas,
along riverbanks, and onto roadways [6]. Nonetheless, an
approximate 90% of CDW holds the capacity for reuse,
recycling, or recovery [7]. CDW is a significant environ-
mental challenge due to its considerable contribution to
global waste generation as anticipated in Fig. 1 [8]. For
example, China produced about 2.4 billion tons of CDW
in total [9]. The European Union (EU) generated a collec-
tive amount of 850 million tonnes of CDW [10]. As one
of the leading contributors to the global CDW, the United
States generates an annual volume exceeding 600 million
tons [11]. In Brazil, more than 45 million tons CDW is
produced each year. Also, the current statistics indicate
that the construction sector in Egypt generates an annual
amount of 5.8 million tonnes of CDW [12], and the focus
in this study on concrete waste.

Globally, concrete waste (CW) holds the majority share
among the various types of CDW, constituting 85% in the
USA, 81% in Australia, and 45% in China [14]. In Egypt,
CDW primarily comprise dense materials such as concrete,
bricks, sand, mortar, and tile remnants. Moreover, global

2360 a
2500 2% (a)
2,000
£ 1.500
< 1,000
8 600 53
[_q
500 @ 240 225 a0
61 49 45 38 23 21 20 17 16 12
0 = @@@@88856@::@:
L F A PN @D DD
F O & IV F S PP E DN F K
R N ¥ KR G Y K LS W
R (5‘"&\ &\e\ w P < ‘2"& RV Y 5
%
7.00 - y (b)
600 @ 33
5.00
< 4.00 p
= 29 37
g 3.00 »
(9] 2
L2 1.8 17
g 2.00 o 1
& o I _I 1 08 o038 Ry
_ en @ 04 04 op o)
000 =B 4 14 E ﬂ| i & ® 0 @ <
¥ o @ Qb (& & - S N g\b 6\% q}\ pg
S & W & O W F PO
& W E S O & F ¥ Ve
‘e‘b

Fig. 1 Countries with highest CDW generation: a CDW generation (million tons) and b CDW per capita (ton / capita) [13]

@ Springer



Journal of Material Cycles and Waste Management

concrete consumption has soared from approximately 900
million tonnes in 1950 to nearly 30 billion tonnes in 2020
[15], driving the demand for 4.3 billion tons of cement and
19.4 billion tons of aggregate within the concrete sector
[16]. Hence, the conversion of CW into a recycled concrete
aggregate (RCA) represents a promising strategy [17]. In
practice, RCA is generated by mechanically crushing dis-
carded concrete into particles of aggregate size, encompass-
ing both the constituents of crushed coarse RCA (CRCA)
and fine RCA (FRCA) [18]. The studies indicate that treating
one ton of CW can yield approximately 650 kg of CRCA,
330 kg of FRCA, and 20 kg of residual waste [19]. In rela-
tion to this study, there has been limited exploration into the
simultaneous integration of varying proportions of CRCA
and FRCA to develop “green concrete” or recycled aggre-
gate concrete (RAC) [20].

In this context, the repurposing of CW involves recycling
it into both CRCA and FRCA, which can then be employed
in creating a blend referred to as RCA mixture [21]. The
using of CRCA solely has been widely studied [22]. Con-
temporary standards and codes in environmentally progres-
sive countries allow incorporating CRCA up to 30 weight
percent (wt.%) for use in structural concrete applications
[23]. A distinct investigation affirmed that the water absorp-
tion of CRCA surpasses that of coarse natural aggregate
(CNA) by a range of 6.4% to 7.7% [20]. Conversely, there
is a significant demand for utilizing FRCA in concrete with
quality control needs in comparison to fine natural aggre-
gate (FNA) [24]. FRCA is characterized by dimensions
below 5 mm, originates from the crushing and sieving of
fragments from aged concrete mortar [18]. Existing policies
currently do not promote the inclusion of FRCA in cemen-
titious blends, primarily due to the absence of consensus
regarding its impact on mix performance [25]. This lack
of endorsement for FRCA stands in contrast to the more
prevalent acceptance of CRCA [26]. The water absorption
capacity (WA), which serves as an indicator of FRCA poros-
ity, remains a subject of unresolved debate. The literature
presents a broad spectrum of WA values, ranging from 2.4%
to 19.3% [20, 27-30].

In addition, the behaviour of RAC incorporating high vol-
umes of both FRCA and CRCA presents certain complexi-
ties that require further investigation. It has been observed

that as the replacement of NA with RCA increases, the
workability of the concrete diminishes, leading to a more
pronounced reduction in slump compared to conventional
concrete (CC) [31]. In contrast, some researchers suggest
replacing 30% of CRCA and 20% of FRCA yield comparable
compressive strength as CC [32]. An alternative study deter-
mined that a viable approach involves restricting usage to a
simultaneous blend of up to 60% CRCA and 30% of FRCA,
coupled with a water-to-cement (W/C) ratio of 0.48, while
maintaining suitable properties [33]. In instances, where
both CRCA and FRCA are utilized at a replacement rate
of 100%, there is a notable decrease in cube compressive
strength, ranging from 36 to 42% [34]. However, Pedro et al.
have noted that concrete incorporating both coarse and fine
RCAs simultaneously can achieve comparable performance
to CC [35]. As an example, the compressive strength expe-
riences a relatively modest decrease (approximately 10%)
when the replacement ratios reach 30% of coarse aggregate
and 20% for fine aggregate. In addition, tensile strength wit-
nesses a reduction of 5% to 15% when replacing 50% of
coarse aggregate, and up to 35% when substituting 50% of
fine aggregate [36, 37]. Plaza et al. conducted a study reveal-
ing that the simultaneous utilization of both fine (50%) and
coarse (100%) of RCA led to diminished strength compared
to the CC. This approach incurred strength reductions of up
to 14.13% [43].

Beside the above mentioned mechanical characteristics,
the environmental merits of recycling CW, is a way of tran-
sition to green the concrete industry, avoid landfills, reduce
consumption of natural materials [38]. The implementation
of life cycle assessment (LCA) has gained extensive trac-
tion in the ecological consequences of waste handling strat-
egies [39]. LCA is utilized to assess both the energy and
environmental impacts of products or services [40]. It pro-
vides valuable understanding into the environmental aspects
linked with the adoption of technologies and strategies in the
management of CW [41]. For instance, it can be argued that
the complete substitution of crushed granite with recycled
coarse aggregate could potentially result in 7% reduction in
GHGs [42]. In a study carried out in Hong Kong demon-
strated that incorporating various recycled materials, such
as reclaimed stone aggregates, bricks, and concrete blocks

Table 1 Concrete mixtures with

; ) Mixes %RCA  Cement (kg) W/C CNA (kg) FNA (kg) CRCA (kg) FRCA (kg)
different proportions of recycled
aggregate Mix (1) [Con- 0% 300 0.425 1347.25 673.6 0 0
ventional
mix|]
Mix (2) 50% 300 0425 673.6 336.8 673.6 336.8
Mix (3) 75% 300 0425 336.8 168.41 1010.44 505.2
Mix (4) 100% 300 0425 0 0 1347.25 673.6

@ Springer



Journal of Material Cycles and Waste Management

Table 2 Concrete mix design information for grade 25 concrete

Component Value

Design strength 25 MPa at 28 days

3.0 MPa (very good control) ACI
1.64 * 3.0=4.92 MPa
254+4.92=29.92 MPa

0.425

Standard deviation
Margin
Target mean strength

Free water / cement ratio

in the construction of concrete buildings led to GHGs reduc-
tions ranging from 6 to 17% [43].

The knowledge gaps and motivation revolve around the
feasibility of incorporating significant amounts of both
FRCA and CRCA into RAC. The simultaneous use of CRCA
and FRCA can offer performance levels comparable to CC,
particularly with careful selection of replacement ratios for
aggregates. Furthermore, the adoption of such practices can
yield substantial environmental benefits, specifically when
considering LCA for recycling scenarios in contrast to tra-
ditional concrete production methods.

The objective of this research is to measure the mechani-
cal characteristics and the associated environmental impacts
for RAC made with substitution of CRCA and FRCA in
concrete applications. Four concrete mixtures, 0% (refer-
ence or CC), 50%, 75%, and 100% RCA replacement, were
prepared with fixed W/C ratio for all mixes. On the other
hand, a LCA (cradle-to-gate) was applied for all mixtures.
As a result, a comparative LCA evaluation framework is
constructed. This framework is initiated using a practical
real construction project, which is anticipated to have con-
siderable environmental merits.

This work is organized into four sections. This section for
introduction and literature review on the RCA derived from

CDW. Additionally, it provides an overview of the method-
ology of LCA in the context of the CDW sector. “Materials
and methods” section outlines the research methodology
employed to accomplish the objectives of this study. The
findings of the research are presented in “Results and dis-
cussion” section, where RCA are categorized based on the
mechanical characteristics and cradle-to-gate LCA during
the stages of concrete waste recycling activities. Finally, the
paper concludes by highlighting the study’s contributions
and key findings.

Materials and methods
Materials and reagents

The application of recycled concrete aggregates (RCA)
serves as a widely embraced method on behalf of repur-
posing concrete waste, aligning well with the principles of
sustainable development [44]. The primary objective of the
experimental program is to assess the feasibility of substitut-
ing coarse and fine natural aggregates (CNA and FNA) with
recycled concrete aggregate (CRCA and FRCA) as a solu-
tion to address raw materials scarcity and land utilization
concerns, while promoting the adoption of recycled materi-
als. The incorporation of RCA offers a potential remedy for
the challenges posed by remote areas of NA sources, which
can incur higher transportation emissions.

To achieve this goal, a laboratory investigation program
was conducted to explore the viability of incorporating
RCA in concrete mixes, replacing NA at varying propor-
tions (50%, 75%, and 100%). The physical attributes of both
RCA and NA were analysed, encompassing specific grav-
ity, water absorption, bulk density, particle size distribution

ﬁRecycling MaterialsH Demolition X Renovation )

Concrete Transportation Construction
roduction

Al A2 A3
NA
RCA
Transportation |—
Cement
Water

Fig. 2 Life cycle including system boundary (A1-A3)

@ Springer




Journal of Material Cycles and Waste Management

Table 3 Impact categories considered in the LCA

Impact category Unit

Climate change kg CO, Eq
Ozone depletion kg CFC11 Eq
Ionising radiation Kbq U-235 Eq
Photochemical ozone formation Kg NMVOC Eq
Acidification Mol H+Eq
Eutrophication, freshwater kg P Eq
Eutrophication, marine kg N Eq

Land use Pt

Resource use, fossils Mj

(PSD), fineness modulus (for fine aggregate), and clay and
silt content (for fine aggregate). The subsequent phase
focussed on evaluating the workability of the fresh concrete
as per the European Standard EN 12350-2 [45]. Ultimately,
the compressive strength of 16 cubic specimens measuring
15X 15X 15 cm was tested in accordance with ASTM C39
(American Society for Testing and Materials) standards.
Additionally, the split tensile strength was determined using
16 cylindrical samples measuring 15 X 30 cm, following the
guidelines outlined in ASTM C496/C496M [46]. To ensure
precision and dependability, each mixture underwent two
rounds of testing.

Materials

In this study, coarse aggregates with a grade of 4.75-50 mm
were used, including gravel round, and crushed as coarse

New Aswan City
CDW Landfill

NA and crushed concrete rubble as coarse RCA. Two types
of fine aggregates were used: fine NA from gravel and
sand quarry and fine RCA, which were crushed concrete
debris passing through a 4.75 mm sieve. The RCA materi-
als were acquired from leading landfill sites in New Aswan
City (Egypt), including demolished structures, and manu-
ally crushed. The aggregates underwent testing as per the
ASTM C136/C136M [47]. In relation to cement, CEM 1
42.5N was employed, and the assessment of cement was
conducted following the guidelines outlined in the Egyptian
Standard Specifications ESS 2421/2007 [48]. The selected
cement adhered to the specifications set forth in ESS 4756-
1/2009 [49]. Notably, the choice of cement type emerged
as a pivotal factor, wherein CEM II/B and CEM V cements
exhibited more pronounced capability in minimizing global
warming potential (GWP) as opposed to CEM I cement [50].

Table 4 physical properties of the coarse and fine aggregates

Property Coarse Fine aggre-  Standard test
aggregates gates
CNA CRCA NFA FRCA

Specific gravity 2.74 219 268 1.70 ASTM 127/128

Water absorption (%) 1.34 9.10 2.35 1695 ASTM 127/128

Bulk density (kg/m®) 1650 1220 1600 1300 ASTM?29
Fineness modulus 255 345 - - ASTM125
Clay and silt content 3.50 3.70 - - ASTM142

(%)

(! ®on :
. R

- * Recycling Plant & .
* ' Ready Mix Plant -

& =
- Y —

AR i 1 o

L .
o i : - -
B @B~ P A { |
AT SE——— E-Coee ,‘:a .
2.7 gl A} I \”‘-‘% CDW
e L _ Landfill, o

LArea=2.0 Km2 ™~

- .
B 1P it S

Fig.3 The case study, including landfill, recycling plant, and ready-mix plant data

@ Springer



Journal of Material Cycles and Waste Management

Concrete mix design and testing methods

The concrete mixture design was formulated following the
guidelines outlined in the American Concrete Institute (ACI)
211.1 standard [51]. The mix proportion of the concrete
compositions were determined using the absolute volume
method [52]. RCA is used to refer to both coarse and fine
RCA. Similarly, NA will be used to represent both coarse
and fine NA. The specimens were subjected to testing at
both 7 days and 28 days of age in accordance with the Egyp-
tian Code for Design and Construction of Concrete Struc-
tures (ECP 203-2018) as it is the standard curing time by
immersion using potable water [53]. Four concrete mixes,
as depicted in Tables 1 and 2, have been formulated for a
total of thirty-two samples. The objective is to compare the
properties of concrete produced using solely NA and varying
percentages of RCA. Mix 1, consisting of NA alone, serves
as the reference mix. The other three mixes (Mixes 2, 3, and
4) incorporate RCA replacements of 50%, 75% and 100%,
respectively. All mixes maintain a fixed ratio of coarse to
fine aggregate with (2:1) in sequential order. In addition, a
uniform cement content of 300 kg/m? is maintained across
all blends.

Environmental program
Comparative LCA: goals, boundary, and impact assessment

Improper management of CDW poses numerous detrimen-
tal effects, such as global warming, ozone layer depletion,
aquatic eutrophication, etc. [54]. This study aligns with the
framework of LCA as outlined in ISO 14040:2006 [55] and
1SO14044:2006 [56], and it also adheres to EN 15804 [57].
The research encompasses four fundamental steps: (1) defin-
ing the goal and scope, (2) conducting an inventory analysis,
(3) performing an impact assessment, and (4) interpreting
the results [58]. The primary aim of this LCA is to evalu-
ate the environmental advantages of substituting NA with
RCA derived from concrete waste in RAC production. A
cradle-to-gate LCA comparison was conducted between
the “reference” concrete (Mix1) and concrete mixes with
varying levels of NA replacement by RCA, specifically 50%
Mix2), 75% (Mix3), and 100% (Mix4). The system bound-
ary depicted in Fig. 2, designated as “cradle-to-gate.” This
boundary covers life cycle stages including the target bound-
ary as follow: raw material supply (A1), transportation to the
concrete plant (A2), and the manufacturing of ready-mix
concrete (A3) [59].

The Ecoinvent 3.8 database and SimaPro 9.4.0.2 are
extensively utilized tools for conducting environmental
impact assessments. The Ecoinvent 3.8 database is a robust
and all-encompassing resource that provides LCI data for

Fig.4 Particle size distribution 100.0
(PSD) 90.0 - ——ENA 74
FRCA ¥/
80.0 P/
70.0 NA (2:1) /
o0 60.0 —e—RCA(2:1) /'
= : —e—CNA /] /
£ 50.0 1 e—CRCA 77
2 40.0 4,
=N : — 4/
30.0 === A /
20.0 et : 3/
10.0 BEE e ==
0.0 Mﬁ‘iﬁf—_*—*—&_—_——-—ﬁf
0.1 1.0 10.0 100.0
particle size (mm)
Fig.5 Slump value of the recy- 10
cled concrete mixes versus the
percentage of RCA rg 86.5 55
E 5% : 3
)
0
0 10 20 30 40 50 60 70 80 90 100 110

@ Springer

RCA (%) Replacement



Journal of Material Cycles and Waste Management

Fig.6 Curing of samples and
compressive strength and indi-
rect tensile strength tests

o
[}
| =
N B
=
a

Table 5 Average compressive

o . RCA % Compressive strength Compressive strength  Splitting tensile Splitting tensile
strength and splitting tensile at 7 days (MPa) at 28 days (MPa) strength at 7 days strength at 28 days
strength of the concrete (MPa) (MPa)

Average Standard Average Standard Average Standard Average Standard
deviation deviation deviation deviation
0% RCA 19.1 0.5 28.7 0.8 1.2 0.1 1.7 0.1
50% RCA 180 0.8 27.0 1.1 1.5 0.1 22 0.1
75% RCA 122 33 18.3 5.0 14 0.1 2.1 0.1
100% RCA 6.2 04 9.3 0.6 0.6 0.1 0.9 0.2
N N
: . Loading and Cruching . S
Dismantling handaling screening, and Delivering raw
rocks grading material
(Loader and 4
(Excavator) truck) (Fixed plant) (Loader)

Fig. 7 Production Process of NA (CNA + FNA)

diverse products and processes. It enables the evaluation of
environmental impacts across different phases of lifecycle,
encompassing raw material extraction, manufacturing, trans-
portation, utilization, and disposal [60]. The integration of
SimaPro 9.4.0.2 with the Ecoinvent 3.8 database enables
users to conveniently access data and conduct LCA analyses.
This integration provides users with the capability to evalu-
ate the environmental effects linked to diverse products and
processes [61]. The EN 15804 + A2 Method is utilized for
assessing the impact categories as outlined in Table 3. These
parameters provide a comprehensive description of the envi-
ronmental effects based on the established standards [62].

Functional unit (FU)

This study employs a functional unit (FU) of 1 m3 of con-
crete, as recommended by various studies [63]. The assess-
ment encompasses inputs related to resources, production,
energy consumption, and transportation, while also consid-
ering outputs, such as waste generated from material pro-
cessing, emissions, and machine utilization. In order to facil-
itate accurate comparisons for this FU, the research focuses
on concrete mixtures with comparable basic mechanical
properties and similar functional requirements.

Case study: new Aswan city

The case study (New Aswan City), as shown in Fig. 3, is
located in Upper Egypt at coordinates 24.085°N 32.904°E

@ Springer



Journal of Material Cycles and Waste Management

Energy Fuel

Segreggation and

. Loading and
( SOt 1 handaling ‘
Screening plant
and loader) s
- >

Fig.8 Production Process of RCA (CRCA +FRCA)

Natural
aggregates Concrete waste
(NA) (Truck)
(Truck) | ‘

— (—

gy —

Concrete
mixing plant

Fig.9 Transportation Phase

and it was built starting in 1999 as part of the Egyptian
government plan to develop housing in desert regions as a
means of curbing urban sprawl encroaching upon agriculture
lands. It is situated 12 km north of Aswan and across the
Nile river [64].

Results and discussion
Mechanical characterization results
Physical properties of NA and RCA

The Utilization of RCA in concrete manufacturing sig-
nificantly influences both concrete design approach and
its properties. This is primarily due to the presence of
impurities, as well as residual cement and mortar adher-
ing to the RCA. These factors notably affect the chemical
composition of the RCA, resulting in changes in proper-
ties like density, specific gravity, and absorption [65] as
listed in Table 4. RCA typically exhibit a rough texture,

@ Springer

R

Cruching , Delivering raw
screening, and gal
- materi
(Fixed plant) (Loader)

primarily because of the presence of hardened cement
and mortar, and an angular shape, which results from the
crushing process [66]. Furthermore, the measurements of
the characteristics were compared with the limits accord-
ing to the ASTM specifications.

Generally, in comparison to conventional aggregates,
the CRCA had a higher absorption rate and a lower spe-
cific gravity. The CNA absorbed between 0.2 and 4% of
its weight [67]. In addition, according to the ASTM C128,
most CNA have specific gravities between 2.40 and 2.90
[68]. Furthermore, based on ASTM C29, the gauge of the
bulk density of the coarse aggregate fluctuates between
1200 kg/m® and 1750 kg/m? [69].

Absorption levels of the FNA ranges from 0.2% to 3%
[70]. Meanwhile, FNA had a specific gravity between 2.40
and 2.90 according to ASTM C127 and ASTM C128. In
this study, the relative density for the FNA was 2.68;
while the FRCA showed a relative density of 1.70, which
is under the minimum limit. Also, according to the ASTM
C29, the range of the bulk density of the fine aggregate
fluctuates between 1200 kg/m?® and 1750 kg/m> [69]. The
fineness modulus (FM) ranges between 2.3 and 3.1 as per
the ASTM C125. The limits of the percent of the clay and
silt according to ASTM C142 must not exceed 5% of the
amount passing from sieve (NO. 200) [71]. The particle
size distribution (PSD) of the aggregates was carried out
by the sieve analysis test, executed in accordance with
ASTM C136 [72]. The PSD curves are shown in Fig. 4,
the limits of the grading situated within the recommended
specifications, which is acceptable for manufacturing con-
crete according to ASTM C33 [73]. The maximum particle
size is 50 mm, which satisfies the quality requirements.

Fresh properties of RAC (workability)

Concrete workability is an indicator of its ease in prepara-
tion, application, compaction, and finishing, all while main-
taining its homogeneity without significant disruptions [74].
The slump test was carried out based on the ASTM C143,
which summarizes the normal concrete having a slump



Journal of Material Cycles and Waste Management

Fig. 10 Manufacturing Phase

Material handling
(Loader)

within a range 50 mm to 75 mm [75]. Figure 5 shows the
values of the slump, which considered acceptable for the
control mix (Mix 1) and Mix 2 with 50% of RCA. Moreover,
the results were found under the limits for Mixes 3 and 4
containing an RCA amount equal to 75% and 100%, respec-
tively. The main factors that affected the values of the slump
in this study were the shape of aggregates and their surface
texture. The more the RCA, the more decrease of the work-
ability or the slump value will be.

Hardened RAC properties (compressive and splitting tensile
strengths)

The compressive tests were carried out according to ASTM
C39, Fig. 6, at 7 and 28 days [76]. The average values of the
two replicates for each mix, when crushed under compres-
sive axial load are presented in Table 5. The results showed
that the values of compressive strength are almost equal
for mixes with no RCA and 50% RCA replacement. On the
other hand, for replacements equal and higher than 75%, the
average compressive strength was much lower and did not
exceed 18.3 and 9.3 MPa after 28 days for mix 3 and Mix
4, respectively. As such, the usage of very high quantity of
RCA will be limited for non-structural applications only.
The indirect tensile strength of concrete is typically
accounts for approximately 8% to 12% of the compressive
strength [77]. Hossein and Farhad [78] discovered that the
replacement of NA with RCA could potentially lead to

Energy Fuel

N )
Concrete
. .. handling to
Material mixing construction site
(Concrete plant) gate
(Truck)
4 b -

either an increase or decrease in tensile strength. According
to ASTM C496 [79], Table 5 provides the tensile values,
which represent the mean results from two replicates for
each mixture, obtained through testing under indirect axial
loading conditions. The results of indirect tensile strength
showed that an increase in the strength for RCA mixes for
replacement levels up to 75%, while a sharp decrease was
registered for the total replacement of NA with RCA.

Life cycle assessment (LCA) of RAC: assumptions
and results analysis

System boundaries

To ensure the viability of this study, several key assump-
tions have been made. Firstly, the potential effects stemming
from the internal transportation of waste within the CDW
recycling facility have been excluded from consideration
[80]. Additionally, the study assumes that both the recy-
cling plant and the ready-mix concrete plant are constructed
at the boarder of the landfill position, as depicted in Fig. 3.
Furthermore, the recycling plant comprises a screening plant
and a fixed crusher plant for RCA production, with the out-
put assumed to consist of a 2:1 ratio of coarse to fine RCA.

In terms of transportation, the average distance from the
source of CDW to the landfill has been assumed 5.0 km as
illustrated in Fig. 3. Moreover, certain emissions arising
from various stages of raw material production or extraction,

Table 6 Life cycle impact
assessment — Al to A3 phases

Impact category Unit Mix 1 Mix 2 Mix 3 Mix 4
Climate change kg CO, eq 459 294 20.7 12.9
Ozone depletion kg CFCl1 eq 1.7E-05 1.4E-05 1.3E-05 1.1E-05
Ionising radiation kBq U-235 eq 4.7 3.8 33 2.9
Photochemical ozone formation kg NMVOC eq 2.0E-01 1.4E-01 1.0E-01  7.4E-02
Acidification mol H+eq 2.3E-01 1.6E-01 1.3E-01  9.8E-02
Eutrophication, freshwater kg Peq 3.1E-04 1.6E-04 9.1E-05  2.0E-05
Eutrophication, marine kg Neq 6.2E-02  4.1E-02 3.1E-02  2.1E-02
Land use Pt 64.2 32.8 17.4 2.1
Resource use, fossils MJ 1097.2 883.9 771.5 671.8

@ Springer



Journal of Material Cycles and Waste Management

100.0
90.0
80.0
70.0
60.0
50.0
40.0
30.0
20.0
10.0
0.0 - =
.. Pho'toch Eutroph
) Ozone Ionising emical e P Eutroph Resourc
Climate N Acidific ication, . .
charige depletio radiatio ozome . feshwa lcatf.on., use e use,
n n formati tor  marine fossils
on
®mMix 1 (A1-A3) 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
Mix 2 (A1-A3) 64.0 82.2 80.6 68.7 71.3 52.7 66.9 51.0 80.6
mMix 3 (A1-A3) 45.0 72.8 70.4 52.4 56.4 292 49.8 27.1 70.3
mMix 4 (A1-A3) 28.1 64.5 61.4 37.7 42.9 6.4 342 3.3 61.2

Fig. 11 Weighting the total environmental impacts of 1 m* concrete production (cradle to gate)

such as diffuse dust emissions at quarry sites and CW recy-
cling plants, have not been included in the assessment due
to limited available information. However, it is important to
note that these emissions are typically considered insignifi-
cant, thereby negating the need for a sensitivity analysis on
this matter [80].

For concrete production, it is assumed that the water
source is a direct pipeline from the city water supply system,
eliminating the need to estimate water-related environmental
impacts. Furthermore, the source of CDW processes such as
deconstruction and truckload are not considered. Since the
quantity of cement remains constant across all mixtures, the
estimation of cement production and transportation impacts
have been excluded from assessment.

Life cycle inventory (LCI)

The data collection process relied on reviewing pertinent
literature and extracting information from the Ecoinvent
3 Life Cycle Inventory (LCI) database. The primary data
collected, and the underlying assumptions can be summa-
rized as follows; The eco-profile for NA is represented by
the entry “Gravel, round.” [81] in the Ecoinvent 3 database

@ Springer

production. Additionally, “Sand” is utilized as references
for the eco-profiles associated with gravel and sand quarry
operations in the database [81]. With regard to RCA, the
fuel and electricity consumption of fixed plants in their
production is estimated to be 1.74 kWh per ton of recy-
cled concrete aggregates. Furthermore, for every 1 ton of
supplementary raw material produced, approximately 0.38
Litres of diesel is consumed. The production of one ton of
RCA from a fixed plant requires the use of 0.03 kg of steel
[82]. In terms of transportation, the assumptions were made
that the materials are transported via road. Therefore, the
impact associated with the transportation per ton-kilometre
was evaluated using the reference item “Transport, freight,
lorry 16-32 metric tonne, EUROS market for Alloc Def,
S” in the Ecoinvent 3 database. The travelling distance was
obtained through the utilization of Geographic Information
System (GIS) mapping; the distance from natural aggregate
quarry to ready-mix plant is 100.0 km.

Furthermore, in the cement concrete manufacturing
phase, the electricity consumption for mixing one m> of
concrete is estimated to be 2 kWh. Additionally, the diesel
fuel consumption is approximately 12.65 L, considering
a diesel density of 0.84 kg/L, which includes the mixing



Journal of Material Cycles and Waste Management

IO

Al A2 A2 A2 A2 A3 A3 A3 A3

100

90

80

70

60

50

40

30

20

10

0
Al Al Al
H 2 3)
m Climate change kg CO2 eq 100 59.5 399
m Ozone depletion kg CFC11 eq 100 76.8 65.8
w Jonising radiation kBq U-235eq 100 76.0 64.7

= Photochemical ozone formation kg

NMVOC eq 100 67.3 51.6
m Acidification mol H+ eq 100 65.0 482
m Eutrophication, freshwater kg P eq 100 50.8 26.9
m Eutrophication, marine kg N eq 100 67.3 51.5
m Land use Pt 100 49.6 25.1
m Resource use, fossils MJ 100 75.8 64.3

4 D 2 3 49 D 2 3 9
20.3 100 59.7 382 194 100 100 100 100
54.8 100 59.7 382 194 100 100 100 100
533 100 59.7 382 194 100 100 100 100

359 100 59.7 382 194 100 100 100 100

314 100 59.7 382 194 100 100 100 100
3.0 100 59.7 382 194 100 100 100 100
358 100 59.7 382 194 100 100 100 100
0.6 100 59.7 382 194 100 100 100 100
529 100 59.7 382 194 100 100 100 100

Fig. 12 Weighting the environmental effects for each phase (A1, A2, and A3) of 1 m® concrete production for “Mix 27, “Mix 3”, and “Mix 3” in

regard to “Mix 1”7

process. The presumption is made regarding the distance
required for transporting extracted materials within the
concrete plant is 10 km, and the distance from the mixing
plant to the construction site gate is also 10 km [83]. These
data constituted the LCI are shown in Figs. 7, 8, 9, and
10, they were modelled according to the characterization

factors listed in EN 15804:2019 4+ A2 method for life Cycle
Impact Assessment (LCIA).

Life cycle impact assessment (LCIA)

LCIA is employed to elucidate the magnitude of the envi-
ronmental effects associated with the results obtained in a

@ Springer



Journal of Material Cycles and Waste Management

LCI [84]. The LCIA results for Al to A3 phases are listed in
Table 6. The environmental impacts of the four mixes were
evaluated using the EN 15804:2019 + A2 method standard
for each category. Moreover, the bar graph Fig. 11 shows the
percentage of environmental burdens comparison through
each mix.

The main observations from this study indicate signifi-
cant reductions in environmental impacts when comparing
different concrete mixes to a reference mix (Mix 1). Mix
2, Mix 3, and Mix 4, demonstrated average reductions of
31.3%, 47.4%, and 62.3% in environmental impacts, respec-
tively. Notably, the impact category of land use was the most
affected by the replacement of NA with RCA, with reduction
values of 49.0%, 72.9%, and 96.7% for Mix 2, Mix 3, and
Mix 4, respectively.

Specifically, when considering climate change impact per
cubic metre, Mix 2, which featured a 50% RCA replacement,
exhibited a remarkable 36.0% reduction compared to con-
ventional concrete. These findings align with a prior study
that indicated substituting NA with excavated soil and RCA
can reduce total energy consumption by 5% within a cradle-
to-gate boundary [85].

However, it is worth noting that not all studies have found
such significant improvements in environmental impact cat-
egories when incorporating RCA into concrete production.
For instance, another study focussing on cradle-to-gate
(LCA) of concrete block production with RCA did not reveal
significant improvements in most of the impact categories
[58]. These results highlight the variable environmental out-
comes associated with the use of RCA in concrete produc-
tion, underscoring the importance of careful consideration
and context-specific analysis in sustainable construction
practices.

On the other hand, Fig. 12 provides insights into GHGs
categorized as Al, A2, and A3 for each concrete mix. The
study reveals varying environmental reductions during the
raw material phase (A1), a consistent decline in emissions
during the transportation phase (A2), and stable values in
the concrete manufacturing phase (A3).

Specifically, Mix 2, when compared to the reference mix
(Mix 1), demonstrates reductions of 34.7% in Al, 40.3%
in A2, and no change in A3. Notably, the primary driver of
environmental performance improvement stems from trans-
portation savings (A2) associated with RCA. Consequently,
when considering Mix 1 as baseline, reductions of 40.3%,
61.8%, and 80.6% were achieved for Mix 2, Mix 3, and Mix
4, respectively.

Regarding the extraction phase (A1), the most substantial
reductions for Mix 2, Mix 3, and Mix 4, in comparison to
Mix 1 or conventional concrete, are observed in the land
use and eutrophication impact categories. These reductions
are quantified as 49.6%, 25.1%, 0.6%, and 50.8%, 26.9%,
and 3.0%, respectively. These findings corroborate previous

@ Springer

studies highlighting the significant influence of transporta-
tion distance on the environmental benefits of using recycled
aggregates [86].

In summary, the quantitative environmental performance
measurements presented in this study provide a valuable
foundation for evaluating different equivalent proposals
during decision-making processes related to sustainable
construction materials.

Conclusions and future work

The results fulfilled in that research lead to the following
conclusions:

e CW might be recycled into useable aggregates for use in
concrete manufacturing, with qualities suitable for most
concrete purposes.

e The PSD for the CNA and CRCA were close to each
other.

e The slump values of the fresh concrete up to 50% RCA
replacement were within the standard limits for the inter-
national codes.

e The recycled concrete with substitution ratio up to 50%
RCA by the total NA and 300 kg/m3 cement content
produced concrete up to 27 MPa compressive strength,
which is feasible for most concrete applications. More-
over, the recycled concrete with 50% of RCA met the
related specifications and it can represent a more sustain-
able solution.

¢ Interestingly, the indirect tensile strength of the RCA mix
is higher than that of the NA mix up to 75% replacement
of RCA. This indicates the positive side of using RCA in
concrete mix for different applications.

e The environmental impact reduction of using RCA as
a substitution for the NA, leads to more attention to the
importance of recycling.

e Transportation considers the main factor affected by
GHG emissions decreasing based on traditional mix (Mix
1) with values of 40.30%, 61.80%, and 80.60% for Mix
2, Mix 3, and Mix 4, respectively.

e Using a consistent and standardized methodology, the
study can provide a valuable tool for decision-making
when it comes to sustainable construction practices
and the use of RCA in concrete production.

Based on the aforementioned findings, it is feasible to
substitute 50% of NA with RCA in concrete applications.
Additionally, to achieve environmental advantages, it is
advised that regulatory bodies encourage demolition con-
tractors to establish crushing and screening facilities for
utilizing CW in concrete mixes.



Journal of Material Cycles and Waste Management

The future scope of work should focus on further
research and exploration of the transition towards a cir-
cular economy in the CW sector. This entails investigat-
ing methods to optimize waste management and resource
utilization, emphasizing recycling and reusing practices
within the industry.

Moreover, find new methods and technologies to over-
come the environmental burdens of cement components by
extracting recycled cement from RCA or using alternative
materials that substitute the cement such as fly ash, recycled
plastics, limestone dust....etc.

Funding Open access funding provided by The Science, Technology &
Innovation Funding Authority (STDF) in cooperation with The Egyp-
tian Knowledge Bank (EKB).

Availability of data and materials The data that support the findings
of this study are available from the corresponding author upon reason-
able request.

Declarations

Conflict of interest The authors declare that they have no competing
interests.

Ethics approval and consent to participate The authors assert that
the manuscript is their original work and that any ideas, perspectives,
innovations, and outcomes presented in the manuscript are their own,
unless otherwise cited in the text. Any work of others that was utilized
in the development of the ideas presented in the manuscript is clearly
acknowledged within the text and properly cited at the end. Addition-
ally, the authors state that they have given their consent for the manu-
script to be published.

Open Access This article is licensed under a Creative Commons Attri-
bution 4.0 International License, which permits use, sharing, adapta-
tion, distribution and reproduction in any medium or format, as long
as you give appropriate credit to the original author(s) and the source,
provide a link to the Creative Commons licence, and indicate if changes
were made. The images or other third party material in this article are
included in the article’s Creative Commons licence, unless indicated
otherwise in a credit line to the material. If material is not included in
the article’s Creative Commons licence and your intended use is not
permitted by statutory regulation or exceeds the permitted use, you will
need to obtain permission directly from the copyright holder. To view a
copy of this licence, visit http://creativecommons.org/licenses/by/4.0/.

References

1. Abouhamad M, Abu-Hamd M (2021) Life cycle assessment
framework for embodied environmental impacts of building con-
struction systems. Sustainability. https://doi.org/10.3390/sul30
20461

2. Luangcharoenrat C, Intrachooto S, Peansupap V, Sutthinarakorn
W (2019) Factors influencing construction waste generation in
building construction: Thailand’s perspective. Sustainability.
https://doi.org/10.3390/su11133638

3. Polat G, Damci A, Turkoglu H, Gurgun AP (2017) Identification
of root causes of construction and demolition (C&D) waste: the

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

case of Turkey. Procedia Eng 196:948-955. https://doi.org/10.
1016/j.proeng.2017.08.035

Palumbo E, Soust-Verdaguer B, Llatas C, Traverso M (2020) How
to obtain accurate environmental impacts at early design stages in
BIM when using environmental product declaration. A method to
support decision-making. Sustainability. https://doi.org/10.3390/
sul2176927

Tam VWY, Soomro M, Evangelista ACJ (2018) A review of recy-
cled aggregate in concrete applications (2000-2017). Constr Build
Mater 172:272-292. https://doi.org/10.1016/j.conbuildmat.2018.
03.240

Ferreira RLS, Anjos MAS, Nébrega AKC, Pereira JES, Ledesma
EF (2019) The role of powder content of the recycled aggregates
of CDW in the behaviour of rendering mortars. Constr Build
Mater 208:601-612. https://doi.org/10.1016/j.conbuildmat.2019.
03.058

Zhao X (2021) Stakeholder-associated factors influencing con-
struction and demolition waste management: a systematic review.
Buildings. https://doi.org/10.3390/buildings 11040149

Cho N, El Asmar M, Aldaaja M (2022) An analysis of the impact
of the circular economy application on construction and demoli-
tion waste in the United States of America. Sustainability. https://
doi.org/10.3390/su141610034

Guo F, Wang J, Song Y (2022) How to promote sustainable devel-
opment of construction and demolition waste recycling systems:
production subsidies or consumption subsidies? Sustain Prod
Consum 32:407-423. https://doi.org/10.1016/j.spc.2022.05.002
Moscati A, Johansson P, Kebede R, Pula A, Torngren A (2023)
Information exchange between construction and manufacturing
industries to achieve circular economy: a literature review and
interviews with Swedish Experts. Buildings. https://doi.org/10.
3390/buildings13030633

Ilcan H, Sahin O, Kul A, Ozcelikci E, Sahmaran M (2023) Rheo-
logical property and extrudability performance assessment of con-
struction and demolition waste-based geopolymer mortars with
varied testing protocols. Cem Concr Compos 136:104891. https://
doi.org/10.1016/j.cemconcomp.2022.104891

Daoud AO, Othman AAE, Ebohon OJ, Bayyati A (2022) Over-
coming the limitations of the green pyramid rating system in the
Egyptian construction industry: a critical analysis. Archit Eng Des
Manag 18(2):114-127

Wang B, Yan L, Fu Q, Kasal B (2021) A comprehensive review
on recycled aggregate and recycled aggregate concrete. Resour
Conserv Recycl 171:105565. https://doi.org/10.1016/j.resconrec.
2021.105565

Xing W, Tam VWY, Le KN, Hao JL, Wang J (2022) Life cycle
assessment of recycled aggregate concrete on its environmental
impacts: a critical review. Constr Build Mater 317:125950. https://
doi.org/10.1016/j.conbuildmat.2021.125950

Miller SA, Horvath A, Monteiro PIM (2018) Impacts of booming
concrete production on water resources worldwide. Nat Sustain
1(1):69-76. https://doi.org/10.1038/s41893-017-0009-5
Monteiro PIM, Miller SA, Horvath A (2017) Towards sustainable
concrete. Nat Mater 16(7):698-699. https://doi.org/10.1038/nmat4
930

Colangelo F, Petrillo A, Farina I (2021) Comparative environ-
mental evaluation of recycled aggregates from construction and
demolition wastes in Italy. Sci Total Environ 798:149250. https://
doi.org/10.1016/j.scitotenv.2021.149250

Sahu A, Kumar S, Srivastava AKL (2023) Combined use of fine
and coarse recycled concrete aggregates in concrete for sustain-
able development: a review. In: Saha S, Sajith AS, Sahoo DR,
Sarkar P (eds) Recent advances in materials, mechanics and struc-
tures. Springer Nature, Singapore, pp 501-516

Zhang Y, Luo W, Wang J, Wang Y, Xu Y, Xiao J (2019) A review
of life cycle assessment of recycled aggregate concrete. Constr

@ Springer


http://creativecommons.org/licenses/by/4.0/
https://doi.org/10.3390/su13020461
https://doi.org/10.3390/su13020461
https://doi.org/10.3390/su11133638
https://doi.org/10.1016/j.proeng.2017.08.035
https://doi.org/10.1016/j.proeng.2017.08.035
https://doi.org/10.3390/su12176927
https://doi.org/10.3390/su12176927
https://doi.org/10.1016/j.conbuildmat.2018.03.240
https://doi.org/10.1016/j.conbuildmat.2018.03.240
https://doi.org/10.1016/j.conbuildmat.2019.03.058
https://doi.org/10.1016/j.conbuildmat.2019.03.058
https://doi.org/10.3390/buildings11040149
https://doi.org/10.3390/su141610034
https://doi.org/10.3390/su141610034
https://doi.org/10.1016/j.spc.2022.05.002
https://doi.org/10.3390/buildings13030633
https://doi.org/10.3390/buildings13030633
https://doi.org/10.1016/j.cemconcomp.2022.104891
https://doi.org/10.1016/j.cemconcomp.2022.104891
https://doi.org/10.1016/j.resconrec.2021.105565
https://doi.org/10.1016/j.resconrec.2021.105565
https://doi.org/10.1016/j.conbuildmat.2021.125950
https://doi.org/10.1016/j.conbuildmat.2021.125950
https://doi.org/10.1038/s41893-017-0009-5
https://doi.org/10.1038/nmat4930
https://doi.org/10.1038/nmat4930
https://doi.org/10.1016/j.scitotenv.2021.149250
https://doi.org/10.1016/j.scitotenv.2021.149250

Journal of Material Cycles and Waste Management

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

Build Mater 209:115-125. https://doi.org/10.1016/j.conbuildmat.
2019.03.078

Singh R, Nayak D, Pandey A, Kumar R, Kumar V (2022) Effects
of recycled fine aggregates on properties of concrete containing
natural or recycled coarse aggregates: a comparative study. J Build
Eng 45:103442. https://doi.org/10.1016/j.jobe.2021.103442
Ahmad Bhat J (2021) Effect of strength of parent concrete on
the mechanical properties of recycled aggregate concrete. Mater
Today: Proc 42:1462—14609. https://doi.org/10.1016/j.matpr.2021.
01.310

Silva S, Evangelista L, de Brito J (2021) Durability and shrinkage
performance of concrete made with coarse multi-recycled con-
crete aggregates. Constr Build Mater 272:121645. https://doi.org/
10.1016/j.conbuildmat.2020.121645

Limbachiya MC, Leelawat T, Dhir RK (2000) Use of recycled
concrete aggregate in high-strength concrete. Mater Struct
33(9):574-580. https://doi.org/10.1007/BF02480538

Zhang H, Wang Y, Lehman DE, Geng Y, Kuder K (2020) Time-
dependent drying shrinkage model for concrete with coarse and
fine recycled aggregate. Cem Concr Compos 105:103426. https://
doi.org/10.1016/j.cemconcomp.2019.103426

Villagran-Zaccardi YA, Marsh ATM, Sosa ME, Zega CJ, De Belie
N, Bernal SA (2022) Complete re-utilization of waste concretes—
valorisation pathways and research needs. Resour Conserv Recycl
177:105955. https://doi.org/10.1016/j.resconrec.2021.105955
Zega Claudio J, Santillan Lautaro R, Sosa Maria E, Villagran
Zaccardi Yury A (2020) Durable performance of recycled aggre-
gate concrete in aggressive environments. J Mater Civ Eng
32(7):03120002. https://doi.org/10.1061/(ASCE)MT.1943-5533.
0003253

Li Z, Liu J, Tian Q (2018) Method for controlling the absorbed
water content of recycled fine aggregates by centrifugation. Constr
Build Mater 160:316-325. https://doi.org/10.1016/j.conbuildmat.
2017.11.068

Delobel F, Bulteel D, Mechling JM, Lecomte A, Cyr M, Rémond
S (2016) Application of ASR tests to recycled concrete aggre-
gates: influence of water absorption. Constr Build Mater 124:714—
721. https://doi.org/10.1016/j.conbuildmat.2016.08.004
Evangelista L, Guedes M, de Brito J, Ferro AC, Pereira MF (2015)
Physical, chemical and mineralogical properties of fine recy-
cled aggregates made from concrete waste. Constr Build Mater
86:178-188. https://doi.org/10.1016/j.conbuildmat.2015.03.112
Rodrigues F, Carvalho T, Pereira M, Evangelista L, De Brito J
(2013) Physical and chemical-mineralogical characterization of
fine recycled aggregates from construction and demolition waste.
J Clean Prod 52:438-445

Malesev M, Radonjanin V, Marinkovi¢ S (2010) Recycled con-
crete as aggregate for structural concrete production. Sustainabil-
ity 2(5):1204-1225. https://doi.org/10.3390/su2051204

Quan Tran V, Quoc Dang V, Si Ho L (2022) Evaluating com-
pressive strength of concrete made with recycled concrete aggre-
gates using machine learning approach. Constr Build Mater
323:126578. https://doi.org/10.1016/j.conbuildmat.2022.126578
Vintimilla C, Etxeberria M (2023) Limiting the maximum fine
and coarse recycled aggregates-Type A used in structural concrete.
Constr Build Mater 380:131273. https://doi.org/10.1016/j.conbu
ildmat.2023.131273

Guo Z, Chen C, Lehman DE, Xiao W, Zheng S, Fan B (2020)
Mechanical and durability behaviours of concrete made with recy-
cled coarse and fine aggregates. Eur J Environ Civ Eng 24(2):171-
189. https://doi.org/10.1080/19648189.2017.1371083

Pedro D, de Brito J, Evangelista L (2017) Structural concrete with
simultaneous incorporation of fine and coarse recycled concrete
aggregates: mechanical, durability and long-term properties. Con-
str Build Mater 154:294-309. https://doi.org/10.1016/j.conbuild-
mat.2017.07.215

@ Springer

36.

37.

38.

39.

40.

41.

42.

43.

44,

45.

46.

47.

48.

49.

50.

51.

52.

Silva RV, de Brito J, Dhir RK (2015) The influence of the use of
recycled aggregates on the compressive strength of concrete: a
review. Eur J Environ Civ Eng 19(7):825-849. https://doi.org/10.
1080/19648189.2014.974831

Seara Paz S, de Brito J, Gonzalez Taboada I, Martinez Abella
F, Vasco Silva R (2018) Recycled concrete with coarse recycled
aggregate. An overview and analysis. Mater Constr 68(330):151
Marinkovié S, Josa I, Braymand S, To$i¢ N (2023) Sustainability
assessment of recycled aggregate concrete structures: a critical
view on the current state-of-knowledge and practice. Struct Concr
24(2):1956-1979. https://doi.org/10.1002/suco0.202201245
Laurent A et al (2014) Review of LCA studies of solid waste
management systems — part I: lessons learned and perspectives.
Waste Manag 34(3):573-588. https://doi.org/10.1016/j.wasman.
2013.10.045

Asif M, Dehwah AH, Ashraf F, Khan HS, Shaukat MM, Hassan
MT (2017) Life cycle assessment of a three-bedroom house in
Saudi Arabia. Environments. https://doi.org/10.3390/environmen
ts4030052

Jiang J et al (2023) From prospecting to mining: a review of ena-
bling technologies, LCAs, and LCCAs for improved construc-
tion and demolition waste management. Waste Manag 159:12-26.
https://doi.org/10.1016/j.wasman.2023.01.017

Alnahhal MF, Alengaram UJ, Jumaat MZ, Abutaha F, Algedra
MA, Nayaka RR (2018) Assessment on engineering properties
and CO2 emissions of recycled aggregate concrete incorporating
waste products as supplements to Portland cement. J Clean Prod
203:822-835. https://doi.org/10.1016/j.jclepro.2018.08.292
Chau CK, Hui WK, Ng WY, Powell G (2012) Assessment of CO2
emissions reduction in high-rise concrete office buildings using
different material use options. Resour Conserv Recycl 61:22-34.
https://doi.org/10.1016/j.resconrec.2012.01.001

Aragoncillo AM, Cleary D, Thayasivam U, Lomboy G (2023)
Water sorptivity prediction model for concrete with all coarse
recycled concrete aggregates. Constr Build Mater 394:132128.
https://doi.org/10.1016/j.conbuildmat.2023.132128
Gonzalez-Taboada I, Gonzalez-Fonteboa B, Eiras-Lépez J,
Rojo-Lépez G (2017) Tools for the study of self-compacting
recycled concrete fresh behaviour: workability and rheology. J
Clean Prod 156:1-18

Mahmood W, Ayub T, Khan A-U-R (2023) Mechanical prop-
erties and corrosion resistance of recycled aggregate concrete
exposed to accelerated and natural marine environment. J Build
Eng 66:105867. https://doi.org/10.1016/j.jobe.2023.105867
American Society for Testing and Materials (2019) ASTM
C136: Standard Test Method for Sieve Analysis of Fine and
Coarse Aggregates

Egyptian Organization for Standardization & Quality (2005)
Cement-physical and mechanical tests, ESS 2421, Egypt
Egyptian Organization for Standardization & Quality (2009)
Composition, specifications and conformity criteria for common
cements, ESS 4756-1, Egypt

Bostanci SC, Limbachiya M, Kew H (2018) Use of recycled
aggregates for low carbon and cost effective concrete construc-
tion. J Clean Prod 189:176-196. https://doi.org/10.1016/j.jclep
r0.2018.04.090

Qasrawi H (2016) Design of normal concrete mixtures using
workability-dispersion-cohesion method. Adv Civ Eng 2016:11
Wagih AM, El-Karmoty HZ, Ebid M, Okba SH (2013) Recycled
construction and demolition concrete waste as aggregate for
structural concrete. HBRC J 9(3):193-200. https://doi.org/10.
1016/j.hbrcj.2013.08.007


https://doi.org/10.1016/j.conbuildmat.2019.03.078
https://doi.org/10.1016/j.conbuildmat.2019.03.078
https://doi.org/10.1016/j.jobe.2021.103442
https://doi.org/10.1016/j.matpr.2021.01.310
https://doi.org/10.1016/j.matpr.2021.01.310
https://doi.org/10.1016/j.conbuildmat.2020.121645
https://doi.org/10.1016/j.conbuildmat.2020.121645
https://doi.org/10.1007/BF02480538
https://doi.org/10.1016/j.cemconcomp.2019.103426
https://doi.org/10.1016/j.cemconcomp.2019.103426
https://doi.org/10.1016/j.resconrec.2021.105955
https://doi.org/10.1061/(ASCE)MT.1943-5533.0003253
https://doi.org/10.1061/(ASCE)MT.1943-5533.0003253
https://doi.org/10.1016/j.conbuildmat.2017.11.068
https://doi.org/10.1016/j.conbuildmat.2017.11.068
https://doi.org/10.1016/j.conbuildmat.2016.08.004
https://doi.org/10.1016/j.conbuildmat.2015.03.112
https://doi.org/10.3390/su2051204
https://doi.org/10.1016/j.conbuildmat.2022.126578
https://doi.org/10.1016/j.conbuildmat.2023.131273
https://doi.org/10.1016/j.conbuildmat.2023.131273
https://doi.org/10.1080/19648189.2017.1371083
https://doi.org/10.1016/j.conbuildmat.2017.07.215
https://doi.org/10.1016/j.conbuildmat.2017.07.215
https://doi.org/10.1080/19648189.2014.974831
https://doi.org/10.1080/19648189.2014.974831
https://doi.org/10.1002/suco.202201245
https://doi.org/10.1016/j.wasman.2013.10.045
https://doi.org/10.1016/j.wasman.2013.10.045
https://doi.org/10.3390/environments4030052
https://doi.org/10.3390/environments4030052
https://doi.org/10.1016/j.wasman.2023.01.017
https://doi.org/10.1016/j.jclepro.2018.08.292
https://doi.org/10.1016/j.resconrec.2012.01.001
https://doi.org/10.1016/j.conbuildmat.2023.132128
https://doi.org/10.1016/j.jobe.2023.105867
https://doi.org/10.1016/j.jclepro.2018.04.090
https://doi.org/10.1016/j.jclepro.2018.04.090
https://doi.org/10.1016/j.hbrcj.2013.08.007
https://doi.org/10.1016/j.hbrcj.2013.08.007

Journal of Material Cycles and Waste Management

53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

E. C. Committee (2018) Egyptian code for the design and con-
struction of concrete structures. ECP-203. Housing and Build-
ing Research Centre, Cairo

Hossain MU, Wu Z, Poon CS (2017) Comparative environ-
mental evaluation of construction waste management through
different waste sorting systems in Hong Kong. Waste Manag
69:325-335. https://doi.org/10.1016/j.wasman.2017.07.043

1. Standardization (2006) Environmental management: life cycle
assessment: principles and framework, Vol ISO, vol 14040

I. O. F. Standardization (2006) Environmental management: life
cycle assessment; requirements and guidelines. ISO Geneva,
Switzerland

C. EN (2019) 15804: 2012+ A2: 2019—sustainability of con-
struction works—environmental product declarations—core
rules for the product category of construction products. Euro-
pean Committee for Standardization (CEN), Brussels

Zhao Z, Courard L, Groslambert S, Jehin T, Léonard A, XiaoJ
(2020) Use of recycled concrete aggregates from precast block
for the production of new building blocks: an industrial scale
study. Resour Conserv Recycl 157:104786. https://doi.org/10.
1016/j.resconrec.2020.104786

Xing W, Tam VWY, Le KN, Hao JL (2022) Cost and carbon
emission savings of recycled aggregate concrete made in Aus-
tralia: a case study. In: Guo H, Fang D, Lu W, Peng Y (eds) Pro-
ceedings of the 26th international symposium on advancement
of construction management and real estate. Springer Nature,
Singapore, pp 1080-1089

Sacchi R et al (2022) PRospective EnvironMental Impact asSE-
ment (premise): a streamlined approach to producing databases
for prospective life cycle assessment using integrated assess-
ment models. Renew Sustain Energy Rev 160:112311. https://
doi.org/10.1016/j.rser.2022.112311

Silalertruksa T, Wirodcharuskul C, Gheewala SH (2022) Envi-
ronmental sustainability of waste circulation models for sugar-
cane biorefinery system in Thailand. Energies 15(24):9515
Trunzo G, Moretti L, D’Andrea A (2019) Life cycle analysis of
road construction and use. Sustainability 11(2):377
Yazdanbakhsh A, Bank LC, Baez T, Wernick I (2018) Compara-
tive LCA of concrete with natural and recycled coarse aggregate
in the New York City area. Int J Life Cycle Assess 23(6):1163—
1173. https://doi.org/10.1007/s11367-017-1360-5

Galal OM, Sailor DJ, Mahmoud H (2020) The impact of urban
form on outdoor thermal comfort in hot arid environments dur-
ing daylight hours, case study: New Aswan. Build Environ
184:107222. https://doi.org/10.1016/j.buildenv.2020.107222

Tu T-Y, Chen Y-Y, Hwang C-L (2006) Properties of HPC with
recycled aggregates. Cem Concr Res 36(5):943-950. https://doi.
org/10.1016/j.cemconres.2005.11.022

Danish A, Mosaberpanah MA (2022) A review on recycled con-
crete aggregates (RCA) characteristics to promote RCA utilization
in developing sustainable recycled aggregate concrete (RAC). Eur
J Environ Civ Eng 26(13):6505-6539. https://doi.org/10.1080/
19648189.2021.1946721

American Society for Testing and Materials (2019) ASTMC70,
Standard Test Method for Surface Moisture in Fine Aggregate.
ASTMC127, ASTMC128, and ASTM C566, Standard Test
Method for Total Evaporable Moisture Content of Aggregate by
Drying

American Society for Testing and Materials ASTM C128 (2015)
Standard test method for relative density (specific gravity) and
absorption of fine aggregate

American Society for Testing and Materials ASTM C29; Stand-
ard Test Method for Bulk Density (“Unit Weight”) and Voids in
Aggregate ,2017.

American Society for Testing and Materials ASTM C70 (2020)
Standard test, method for surface moisture in fine aggregate

71.

72.

73.

74.

75.

76.

71.

78.

79.

80.

81.

82.

83.

84.

85.

86.

American Society for Testing and Materials ASTMC142 (2017)
Standard test method for clay lumps and friable particles in
aggregates

American Society for Testing and Materials ASTM C136
(2019) Standard test method for sieve analysis of fine and coarse
aggregates

American Society for Testing and Materials ASTM C33 (2018)
Standard specification for concrete aggregates

Ibrahim M, Alimi W, Assaggaf R, Salami BA, Oladapo EA (2023)
An overview of factors influencing the properties of concrete
incorporating construction and demolition wastes. Constr Build
Mater 367:130307. https://doi.org/10.1016/j.conbuildmat.2023.
130307

"American Society for Testing and Materials ASTM C143 (2020)
Standard test method for slump of hydraulic-cement concrete
American Society for Testing and Materials ASTM C39 (2021)
Standard test method for compressive strength of cylindrical con-
crete specimens

Abdelgader HS, Ben-Zeitun AE (2005) Tensile strength of two-
stage concrete measured by double-punch and split tests. In:
Global construction, role of concrete in nuclear facilities, pro-
ceedings of international conference, Scotland, pp 43-50
Sasanipour H, Aslani F (2020) Durability properties evaluation
of self-compacting concrete prepared with waste fine and coarse
recycled concrete aggregates. Constr Build Mater 236:117540
American Society for Testing and Materials ASTM C496 (2017)
Standard test method for splitting tensile strength of cylindrical
concrete specimens

Braga AM, Silvestre JD, de Brito J (2017) Compared environmen-
tal and economic impact from cradle to gate of concrete with natu-
ral and recycled coarse aggregates. J Clean Prod 162:529-543.
https://doi.org/10.1016/j.jclepro.2017.06.057

S. A. S. 1. Ellen Mac Arthur Foundation (2017) Growth within:
achieving growth within: A€320-Billion circular economy invest-
ment opportunity available to Europe up to 2025. Available:
https://www.ellenmacarthurfoundation.org/assets/downloads/
publications/Achieving-Growth-Within-20-01-17.pdf

Borghi G, Pantini S, Rigamonti L (2018) Life cycle assessment of
non-hazardous Construction and Demolition Waste (CDW) man-
agement in Lombardy Region (Italy). J Clean Prod 184:815-825.
https://doi.org/10.1016/j.jclepro.2018.02.287

MaF, Sha A, Yang P, Huang Y (2016) The greenhouse gas emis-
sion from Portland cement concrete pavement construction in
China. Int J Environ Res Public Health. https://doi.org/10.3390/
ijerph13070632

Colangelo F, Navarro TG, Farina I, Petrillo A (2020) Comparative
LCA of concrete with recycled aggregates: a circular economy
mindset in Europe. Int J Life Cycle Assess 25(9):1790-1804.
https://doi.org/10.1007/s11367-020-01798-6

Luo W, Liu S, Hu Y, Hu D, Kow K-W, Pang C, Li B (2022) Sus-
tainable reuse of excavated soil and recycled concrete aggregate in
manufacturing concrete blocks. Constr Build Mater 342:127917.
https://doi.org/10.1016/j.conbuildmat.2022.127917

Santolini E, Bovo M, Barbaresi A, Torreggiani D, Tassinari P
(2023) LCA of virgin and recycled materials to assess the sustain-
ability of paved surfaces in agricultural environment. J Clean Prod
393:136291

Publisher's Note Springer Nature remains neutral with regard to
jurisdictional claims in published maps and institutional affiliations.

@ Springer


https://doi.org/10.1016/j.wasman.2017.07.043
https://doi.org/10.1016/j.resconrec.2020.104786
https://doi.org/10.1016/j.resconrec.2020.104786
https://doi.org/10.1016/j.rser.2022.112311
https://doi.org/10.1016/j.rser.2022.112311
https://doi.org/10.1007/s11367-017-1360-5
https://doi.org/10.1016/j.buildenv.2020.107222
https://doi.org/10.1016/j.cemconres.2005.11.022
https://doi.org/10.1016/j.cemconres.2005.11.022
https://doi.org/10.1080/19648189.2021.1946721
https://doi.org/10.1080/19648189.2021.1946721
https://doi.org/10.1016/j.conbuildmat.2023.130307
https://doi.org/10.1016/j.conbuildmat.2023.130307
https://doi.org/10.1016/j.jclepro.2017.06.057
https://www.ellenmacarthurfoundation.org/assets/downloads/publications/Achieving-Growth-Within-20-01-17.pdf
https://www.ellenmacarthurfoundation.org/assets/downloads/publications/Achieving-Growth-Within-20-01-17.pdf
https://doi.org/10.1016/j.jclepro.2018.02.287
https://doi.org/10.3390/ijerph13070632
https://doi.org/10.3390/ijerph13070632
https://doi.org/10.1007/s11367-020-01798-6
https://doi.org/10.1016/j.conbuildmat.2022.127917

	Incorporating coarse and fine recycled aggregates into concrete mixes: mechanical characterization and environmental impact
	Abstract
	Introduction
	Materials and methods
	Materials and reagents
	Materials
	Concrete mix design and testing methods

	Environmental program
	Comparative LCA: goals, boundary, and impact assessment
	Functional unit (FU)

	Case study: new Aswan city

	Results and discussion
	Mechanical characterization results
	Physical properties of NA and RCA​
	Fresh properties of RAC (workability)
	Hardened RAC properties (compressive and splitting tensile strengths)

	Life cycle assessment (LCA) of RAC: assumptions and results analysis
	System boundaries
	Life cycle inventory (LCI)
	Life cycle impact assessment (LCIA)


	Conclusions and future work
	References


